
Quadratics And Harder Graphs
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1 Complete the table, and plot the graph of 𝑦 = 𝑥2 on the axes below.

[2 marks]

Turn over for next question

Turn over ►
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2 Plot the graph of 𝑦 = 𝑥3 − 2𝑥 for −2 ≤ 𝑥 ≤ 2 on the axes below.

[3 marks]

Turn over for next question

Turn over ►
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3 On the axes below, plot the graphs of the quadratics for −2 ≤ 𝑥 ≤ 3

𝐴: 𝑦 = 𝑥2 − 1

𝐵: 𝑦 = 𝑥2 – 𝑥

[5 marks]

Turn over for next question

Turn over ►

5

x −2 −1 0 1 2 3

y

1

1

2

3

4

5

6

7

8

9

−5

−4

−3

−2

−1

0 2 3 4−4 −3 −2 −1

x −2 −1 0 1 2 3

y

𝑦

𝑥



5

4 𝐴 is a cubic graph, 𝐵 is a reciprocal graph, their equations are shown below. 

𝐴: 𝑦 = 𝑥3 − 1

𝐵: 𝑦 =
1

𝑥

4(a) Complete the table below showing the values of A for −2 ≤ 𝑥 ≤ 2

[2 marks]

4(b) Complete the table below showing the values of B for −2 ≤ 𝑥 ≤ 2

[2 marks]

Question continues on next page. 

Turn over ►
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4(c) On the axes below, plot graph 𝐴 and graph 𝐵.

Label your graphs. 

[3 marks]

4(d) What are the approximate points of intersection of the two graphs?

[2 marks]

Answer

Turn over for next question

Turn over ►

5

𝑦

𝑥



7

5 The graph below shows the graph of, 

𝑦 = 5𝑥

5(a) Complete the table below showing the values of 𝑦 = 2𝑥 for −2 ≤ 𝑥 ≤ 3

[2 marks]

5(b) Plot 𝑦 = 2𝑥 on the axes below for the values of  −2 ≤ 𝑥 ≤ 3

[2 marks]

5(c) Describe the differences between the two graphs, making sure to include reference to 

the shape of each curve and any points of intersection.

[3 marks]

Answer

Turn over for next question

Turn over ►
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6(a) What is the difference between a sketch and a plot of a graph?

[1 mark]

Answer

6(b) Sketch the curves 𝑦 =
1

𝑥
and 𝑦 = 2𝑥 + 1 on the same axes.

[2 marks]

Turn over for next question

Turn over ►
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7 Match the sketches of the six graphs below to the equations given.

One has been done for you. 

𝐴: 𝑦 = 𝑥3 + 2𝑥2 𝐵: 𝑦 = 𝑥3 𝐶: 𝑦 = −𝑥3

𝐷: 𝑦 = 𝑥2 𝐸: 𝑦 = 𝑥2 + 2𝑥 𝐹: 𝑦 = −𝑥2

[5 marks]

Turn over ►

5
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8 The grid below shows the graph of  𝑁 = 𝐴𝑟𝑡 which represents the number of bacteria 

in a sample (𝑁) over a period of time (𝑡). 𝐴 and 𝑟 are constants.

Use the graph to find the values of the constants 𝐴 and 𝑟.

[3 marks]

Answer

Turn over for next question

Turn over ►
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9 Match the sketches of the six graphs below to the equations given.

One has been done for you. 

𝐴: 𝑦 =
1

𝑥
𝐵: 𝑦 = −

1

𝑥
𝐶: 𝑦 =

1

10𝑥

𝐷: 𝑦 = 𝑒𝑥 𝐸: 𝑦 = 0.5𝑥 𝐹: 𝑦 = −𝑒𝑥

[5 marks]

END

5

𝐵
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